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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2ES 294,099 302,267 A 8,168
2y8s 29 225,672 238,289 A12,617
2ES MNP 3 225,672 238,289 A12,617
A2 FOU=SJAAY 50,000 50,000 0
401 Al HIZ 2018 50,000 50,000 0
01 A& HI 50,000 50,000 0
OL7L FU=JAAY 50,000
Asgedt 249 5,939 5,939 0
301 et A=z 5,939 5,939 0
04 TS LHUHAH X2 5,939 5,939 0
OXsLEHUI oFalYl 2,500 »2H 3652 1,825
OXNsdEHl U 2Y 3,000
Ogd=a &Iz 6,000& x12J4 & 72
OgtgHxzA Azl 392,000 *1JH & 392
OgdxA 22K 150,000 =10 2 150
OXsZL8l 24l 500,000 =104 & 500
sclBtE 29 49,070 49,070 0
301 et d =S 49,070 49,070 0
05 S& -0 -EtEEES28E 49,070 49,070 0
O JIE2=+¢ 200,000& x14H x12& 33,600
O &d4d= 200,000& *14H x200% 5,600
Os&slo &2 20,0003 *14H 23|« 12& 6,720
Oogtd =& 25,0003 x63F #23| 3,150
A2 AL X& 12,560 8,860 3,700
201 Let249H] 8,700 0 8,700
03 A2 Z Hl 8,700 0 8,700
OEZEHRI] A 5,000
OJIEH HAH(FEA S3AIY) 3,700
301 LAz 3,860 8,860 A5,000
09 AL HIZB &S 2,860 7,860 25,000
OZeH 20,000& x50H 1,000
OL2HOEE sl 20,000 25X 500
OJIEH &AL 800
O0lZ(28) MsU3 40,000 14X 560
MIIEE4d3 1,000 1,000 0
SAHIA 1,000
EES A2 108,103 114,420 26,317
101 @124l 5,288 3,480 1,808
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SN ¥ES
B #NARY(FHS)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
NEEECEY
10,4202 *15A1 2F*1 58 = 12& 2,814
HESIHI(E,5=4) 1,260,270& x120% 1,513
A IS AbH| 83,3603 *10 834
254 247 ,500& = 12& 2,970
CHorg=sH| 40,000& x12& 480
Jl2& bl 36,650 35,125 1,525
SHS Jl2d| 36,650 35,125 1,525
201 LEt2 Y| 2,950 2,825 125
01 AFR2t2l Yl 2,950 2,825 125
O8RY =222 25,000 118 2,950
202 (4] 17,400 17,400 0
01 2L Y] 1,200 1,200 0
O=2W bl 1,200
02 MY 16,200 16,200 0
OE ¥ I 150,000& x12& x9H 16,200
203 PR =&lY| 10,000 10,000 0
01 J|22H L RF=AH| 6,600 6,600 0
OJ|22H YR =&Y 550,000& = 12& 6,600
02 RIS R = XY 400 400 0
OFAINAMARFEY| 40,000& =104 400
04 2SI L RF=AH| 3,000 3,000 0
ORAN2ELERFAH| 250,000& x12& 3,000
405 XH&HF S I 6,300 4,900 1,400
01 AL =S EF SHI 6,300 4,900 1,400
Oflga FOSE 2ty 2tolH 7Y
600, 000& +1CH 600
Ool A AT ¢ 1,000,000& = 1SET 1,000
ORXEXI AL E S OFOF2I A 7 & 3,500,000& =1CH 3,500
OXXIA Y HED 2 1,200,000 = 1CH 1,200




